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01 AR 2teld| 700 700 0
O 294+Y 700
~- SSFUAL Y B g
70,000& = 10 * 13 700
202 44| 400 400 0
01 =W A bl 400 400 0
2 A2 B DR S
100,000& = 4% » 13l 400
301 Yt A= 400 400 0
10 HAIAHIE &3 400 400 0
O ES¥Y SAR 1S S
20,000& * 20 = 13l 400
307 2IZtol 3,000 3,000 0
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SN EB -GS - MBAY - BES 0 & 24 o HRE2
04 QDB AL 3,000 3,000 0
O GR0IYDHY B0ISH3
3,000,0008 * 1] 3,000
ESSEAHIA(SAK 224H) 1,935,366 2,043,960 £108,5%
= 1,267,683
= 638,059
2 29,624
307 21201 & 1,935,366 2,043,960 £108,59
= 1,267,683
= 638,059
= 29,624
LRNCEEES 1,935,366 2,043,960 £108,59
O 2JYHAANLE S XA (126%)
1,015,676, 0002 1,015,676
= 672,833
= 336,419
2 6,419
O YOIREAL XI9(638)  712,268,0009 712,268
=2 466,134
= 233,067
2 13,067
O OHOIMEAIL X (6%) 91,220,008 91,220
= 60,610
= 30,305
2 305
O ARIIZE BSDA X (10Z)
83,076, 0002! 83,076
= 51,538
= 25,769
2 5,769
O HOISESSSAL (1Y)
16,256, 0002 16,256
= 8,128
= 4,064
2 4,064
O WRIDAIRIZIEI (1) 16,870,0002! 16,870
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= 8,435
QIZHAIE DR 7] 1,682 3,000 ~1,318
= 841
= 421
2 420
307 21201 & 1,682 3,000 A1,318
= 841
= 421
= 420
02 AR E 1,682 3,000 ~1,318
O BIHAIE DI BTHI(4H4A)  1,682,0008 1,682
= 841
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EURY
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EURGH
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SA: IE=NE
Hu: B8 2 04 IIE=X
Cel: B BAHS CHl &)
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES Ol AF o8 Hlws2
= 135,509
= 73,412
2 73,412
301 LB AS 282,353 60,916 221,437
= 135,529
= 73,412
2 73,412
01 AHSI 2B H 253 282,353 60,916 221,437
O N&0I0I80HS o 282,353,000 282,353
=2 135,529
= 73,412
2 73,412
252 308,470 2,079,826 AT76,356
NE
= 851,735
= 425,868
2 25,867
307 BI2+0|H 308,470 2,079,826 AT76,356
= 851,735
= 425,868
2 25,867
MEENEES 308,470 2,079,826 AT76,356
O "R0t 22X (626%) 1,303,470,0002 308,470
=2 851,735
= 425,868
2 25,867
228 0l2I01T AlgAIY 98,880 0 98,880
=2 49,440
= 24,720
2 24,720
307 DI2+0| & 98,880 0 98,880
= 49,440
= 24,720
2 24,720
MNEENEES 98,880 0 98,880
O ZZE O 0T A2y X2
98,880,000 98,880
= 49,440
= 24,720
2 24,720
OISKl LR BE B2 447,000 0 447,000
= 447,000
307 0I2+0| & 447,000 0 447,000
= 447,000
10 AbSI =X 2 = 447,000 0 447,000
O 25M SRl DR BSE(1499)
447,000, 0002 447,000
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307 gIz2tol A 56,872 56,872
= 28,436
& 14,218
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56,872,000& 56,872
= 28,436
= 14,218
= 14,218
FAE X & 3 69,000 7,000
= 34,500
= 17,250
= 17,250
Helold JIsEZAY 66,000 66,000
= 33,000
& 16,500
= 16,500
402 212H X201 A 66,000 66,000
= 33,000
& 16,500
= 16,500
01 It X=2E X 66,000 66,000
O HEold Ald JHE=(2JH4) 60,000,000 60,000
= 30,000
& 15,000
= 15,000
O OelolE Ald HHI8I(34) 6,000,000 6,000
= 3,000
& 1,500
= 1,500
ZOHOItEsE& N 3,000 3,000
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402 212H X201 A 3,000 3,000
= 1,500
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01 It X222 X 3,000 3,000
O HOHOIMYG S0l HEIE2 (1)
3,000,000 3,000
= 1,500
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